3. Construire le polygone de contraintes et déterminer les sommets.

@x>0

@y=>0

© 5x + 5y £ 600

@ x +2y <200

; 8yz < +30 y
J 60 ~

O’fb/#ﬁ { ! ___...- Z
Y 2% 430 5 )(0[ o o N $<
o MV S0 i OO 7o @
XYy Ly S loo-y )
/“l_—?_z }/S 100 ~0,9x (ﬂr@f‘ff] 5 ‘ jmﬁfe)‘/{‘
3
. gg 25 5:(4-51/&@05’ (?5 }jj
| g
f 128\ 52, 5:7/77/776’7Z
(75 ,50) //Q&
, Sommert A 50ﬂ7/71@4 C
| (@L[j'-!< %{6@) (725/ ({j
% éOo LeoC ‘. z )
=————~—~_~__“ ‘794{ 50 (6 3 ‘; )7 /7,)05
34 < 200 oc SO
| %” L 100 4 <60’0 C
A5 Y | 575 + S75<6C0
SR migew e
ved MQ 2S4S 270
| 502 5126 __ks5£200
sommetst 502 4 15225 23D R
5

17
Notes de cours Optimisation — chapitre 1 7’ L/\_S

/)



